

الجامعة الأردنية	٠٣٠١٢٠٢ رياضيات هندسية ١: الامتحان الثاني	السبت ٢٠١٥/١٢/١٢
اسم الطالب: XXXXXXXXXXXX	مدرس المادة: د. حسن النجاد	
الرقم الجامعي: XXXXXXXXXX	وقت المحاضرة: 8-9:30	

[1] (4 marks) Assume that $y = e^{2x}$ is a solution for the ODE

$y''' + y'' - 5y' - 2y = 0$. Find the general solution for this ODE.

* $\lambda^3 + \lambda^2 - 5\lambda - 2 = 0$
 * Factors of 2: $(2, -2, 1, -1)$
 $\rightarrow 8 + 4 - 10 - 2 = 0$ ($\lambda = 2$) is a factor
 خلاص الصفحة

$(\lambda - 2) \mid \lambda^3 + \lambda^2 - 5\lambda - 2$

* $(\lambda - 2)(\lambda^2 + 3\lambda + 1) = 0$

$\frac{-b \pm \sqrt{b^2 - 4ac}}{2} = \frac{-3 \pm \sqrt{5}}{2}$

[2] (6 marks) Assume $\vec{y}' = \begin{bmatrix} 3 & 2 \\ -3 & -4 \end{bmatrix} \vec{y}$. Find the general solution for $\vec{y}$.

* $A = \begin{bmatrix} 3 & 2 \\ -3 & -4 \end{bmatrix}$, $(A - \lambda I) = \begin{bmatrix} 3 - \lambda & 2 \\ -3 & -4 - \lambda \end{bmatrix}$

$|A - \lambda I| = (3 - \lambda)(-4 - \lambda) + 6 = 0$
 $= -12 - 3\lambda + 4\lambda + \lambda^2 + 6 = 0$
 $= \lambda^2 + \lambda - 6 = 0$
 $= (\lambda + 3)(\lambda - 2) = 0$

$\therefore \lambda + 3 = 0 \rightarrow \lambda_1 = -3$
 $\lambda - 2 = 0 \rightarrow \lambda_2 = 2$

* For $\lambda_1 = -3$:

$\begin{bmatrix} 6 & 2 & 0 \\ -3 & -1 & 0 \end{bmatrix}$

$6x_1 + 2x_2 = 0$

$x_2 = \frac{-6x_1}{2} = -3x_1$

$x_1 = t \in \mathbb{R}$

$\vec{x} = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} t \\ -3t \end{bmatrix} = t \begin{bmatrix} 1 \\ -3 \end{bmatrix}$
 $\vec{x}^{(1)}$

① $\lambda_1 = 2$

$\lambda_2 = \frac{-3 + \sqrt{5}}{2}$, $\lambda_3 = \frac{-3 - \sqrt{5}}{2}$

G.S

$y = c_1 e^{2x} + c_2 e^{\frac{(-3 + \sqrt{5})x}{2}} + c_3 e^{\frac{(-3 - \sqrt{5})x}{2}}$

(4)

* For $\lambda = 2$:

$\begin{bmatrix} 1 & 2 & 0 \\ -3 & -6 & 0 \end{bmatrix}$

$x_1 + 2x_2 = 0$

$x_2 = \frac{-x_1}{2}$

$x_1 = t \in \mathbb{R}$

$\vec{x} = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} t \\ -\frac{t}{2} \end{bmatrix} = t \begin{bmatrix} 1 \\ -\frac{1}{2} \end{bmatrix}$
 $\vec{x}^{(2)}$

G.S:

$y = c_1 \begin{bmatrix} 1 \\ -3 \end{bmatrix} e^{-3t} + c_2 \begin{bmatrix} 1 \\ -\frac{1}{2} \end{bmatrix} e^{2t}$

$y_1 = c_1 e^{-3t} + c_2 e^{2t}$

$y_2 = -3c_1 e^{-3t} + \frac{-1}{2} c_2 e^{2t}$

[3] (4 marks) Find a linear ODE with constant coefficients that has the general solution $y = \underbrace{c_1 e^x + c_2 e^{-x} + c_3 x e^{-x}}_{y_h} + \underbrace{x}_{y_p}$.

* $r_1 = 1$
 * $r_2 = r_3 = -1$
 $\therefore (r-1)(r+1)(r+1) = 0$
 $r^3 + r^2 - r - 1 = 0$
 $y''' + y'' - y' - y = 0$

For $y_p = x$:
 $y_p' = 1, y_p'' = 0, y_p''' = 0$
 $0 + 0 - 1 - x = r(x)$
 $r(x) = -(1+x)$

* ODE:
 $y''' + y'' - y' - y = -(1+x)$

[4] (5 marks) Solve the system: (use gauss elimination).

$x + y + z + w = 2$

$y + z + w = 1$

$x - y + w = 3$

$y - z - w = -3$

$A = \begin{bmatrix} 1 & 1 & 1 & 1 \\ 0 & 1 & 1 & 1 \\ 1 & -1 & 0 & 1 \\ 0 & 1 & -1 & -1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \\ w \end{bmatrix} = \begin{bmatrix} 2 \\ 1 \\ 3 \\ -3 \end{bmatrix}$

* $A = \begin{bmatrix} 1 & 1 & 1 & 1 & 2 \\ 0 & 1 & 1 & 1 & 1 \\ 1 & -1 & 0 & 1 & 3 \\ 0 & 1 & -1 & -1 & -3 \end{bmatrix}$

$\xrightarrow{(-1)R_1} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & -2 & -2 & -4 \end{bmatrix}$

$\xrightarrow{(-2)R_3} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & -2 & -2 & -4 \end{bmatrix}$

$\xrightarrow{(-2)R_4} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & -6 & -10 \end{bmatrix}$

$\xrightarrow{(-1/6)R_4} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-1)R_2} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & -1 & -2 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-2)R_3} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & -1 & -2 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-2)R_4} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & -1 & -2 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-1)R_2} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & 0 & -5/3 \\ 0 & 0 & 1 & 2 & 3 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-2)R_3} \begin{bmatrix} 1 & 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & 0 & -5/3 \\ 0 & 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\xrightarrow{(-1)R_1} \begin{bmatrix} 1 & 0 & 0 & 0 & 1 \\ 0 & 1 & 0 & 0 & -5/3 \\ 0 & 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 1 & 5/3 \end{bmatrix}$

$\therefore x = 1$
 $y = -3$
 $z = 5$
 $w = -1$

* Diagonal

الماتريks diagonal

$$y(p) = \begin{bmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{bmatrix} \begin{bmatrix} \frac{3}{2}e^t - \frac{3}{2} \\ \frac{1}{2}t \end{bmatrix}$$

$$= \begin{bmatrix} \left(\frac{3}{2}e^{2t} \times e^t - \frac{3}{2}e^{2t} \right) + \left(\frac{1}{2}e^{3t}t \right) \\ \left(\frac{3}{2}e^{2t} \times e^t - \frac{3}{2}e^{2t} \right) + \left(-e^{3t} \times \frac{1}{2}t \right) \end{bmatrix}$$

$$\underline{y(p)} = \begin{bmatrix} \frac{3}{2}e^{3t} - \frac{3}{2}e^{2t} + \frac{1}{2}te^{3t} \\ \frac{3}{2}e^{3t} - \frac{3}{2}e^{2t} - \frac{1}{2}te^{3t} \end{bmatrix}$$

$$\underline{y(h)} = \left(c_1 \begin{bmatrix} 1 \\ 1 \end{bmatrix} e^{2t} + c_2 \begin{bmatrix} 1 \\ -1 \end{bmatrix} e^{3t} \right)$$

$$*y = y(p) + y(h)$$

Tech
Family

[5] (6 marks) Assume that a 2×2 matrix A has eigenvalues 2 and 3 and corresponding eigenvectors $\begin{bmatrix} 1 \\ 1 \end{bmatrix}$ and $\begin{bmatrix} 1 \\ -1 \end{bmatrix}$, respectively.

Find the general solution for the linear system: $\vec{y}' = A\vec{y} + \begin{bmatrix} 2 \\ 1 \end{bmatrix} e^{3t}$

$$* y^{(h)} = c_1 \begin{bmatrix} 1 \\ 1 \end{bmatrix} e^{2t} + c_2 \begin{bmatrix} 1 \\ -1 \end{bmatrix} e^{3t}$$

$$* g(t) = \begin{bmatrix} 2 \\ 1 \end{bmatrix} e^{3t}, \quad y_p = \begin{bmatrix} a_1 \\ a_2 \end{bmatrix} e^{3t} + \underbrace{\begin{bmatrix} b_1 \\ b_2 \end{bmatrix} t}_{\text{particular}} e^{3t}$$

* Using the Variation of Parameters:

$$* y_p = y(t) * u(t)$$

$$y(t) = \begin{bmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{bmatrix}, \quad |y(t)| = \begin{vmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{vmatrix} = \begin{vmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{vmatrix} = -2e^{5t}$$

$$y^{-1}(t) = \frac{1}{-2e^{5t}} \begin{bmatrix} -e^{3t} & -e^{3t} \\ -e^{2t} & e^{2t} \end{bmatrix} = \frac{1}{2} \begin{bmatrix} e^{-2t} & e^{-2t} \\ e^{-3t} & -e^{-3t} \end{bmatrix}$$

$$* u'(t) = y^{-1}(t) \cdot g(t) = \frac{1}{2} \begin{bmatrix} e^{-2t} & e^{-2t} \\ e^{-3t} & -e^{-3t} \end{bmatrix} \cdot \begin{bmatrix} 2e^{3t} \\ e^{3t} \end{bmatrix}$$

$$u'(t) = \frac{1}{2} \begin{bmatrix} 2e^{3t} * e^{-2t} + e^{-2t} * e^{3t} \\ 2e^{-3t} * e^{3t} + (-e^{-3t}) * e^{3t} \end{bmatrix} = \begin{bmatrix} e^t + \frac{1}{2}e^t \\ 1 - \frac{1}{2} \end{bmatrix} = \begin{bmatrix} \frac{3}{2}e^t \\ \frac{1}{2} \end{bmatrix}$$

$$u(t) = \int_0^t \begin{bmatrix} \frac{3}{2}e^{\tau} \\ \frac{1}{2} \end{bmatrix} d\tau = \begin{bmatrix} \frac{3}{2}e^{\tau} \\ \frac{1}{2}\tau \end{bmatrix} \Big|_0^t = \begin{bmatrix} \frac{3}{2}e^t - \frac{3}{2} \\ \frac{1}{2}t \end{bmatrix}$$

$$* y_p = y(t) * u(t)$$

$$= \begin{bmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{bmatrix} \begin{bmatrix} \frac{3}{2}e^t - \frac{3}{2} \\ \frac{1}{2}t \end{bmatrix} = \left(\frac{3e^t}{2} - \frac{3}{2} \right) \begin{bmatrix} e^{2t} \\ e^{2t} \end{bmatrix} + \frac{1}{2}t \begin{bmatrix} e^{3t} \\ -e^{3t} \end{bmatrix}$$

~~$$* y_p = \begin{bmatrix} e^{2t} & e^{3t} \\ e^{2t} & -e^{3t} \end{bmatrix} \begin{bmatrix} \frac{3}{2}e^t - \frac{3}{2} \\ \frac{1}{2}t \end{bmatrix} = \left(\frac{3e^t}{2} - \frac{3}{2} \right) \begin{bmatrix} e^{2t} \\ e^{2t} \end{bmatrix} + \frac{1}{2}t \begin{bmatrix} e^{3t} \\ -e^{3t} \end{bmatrix}$$~~

حلن المسألة

$$\lambda^2 + \lambda - 5\lambda - 2 = 0$$

$$1 + 1 - 5 = -2 =$$

$$\lambda = 2$$

$$-8 + 4 + 10 - 2$$

$$14 - 10 = 4$$

$$1 + 1 - 5 = -3$$

$$8 + 4 - 10 - 2$$

$$12 - 12 = 0$$

$$\begin{array}{r} \lambda^2 + 3\lambda + 1 \\ \lambda - 2 \overline{) \lambda^3 + \lambda^2 - 5\lambda - 2} \\ \underline{7\lambda^3 + 2\lambda^2} \\ 3\lambda^2 - 5\lambda - 2 \\ \underline{7\lambda^2 + 6\lambda} \\ \lambda - 7 \\ \underline{7\lambda + 2} \\ 0 \end{array}$$

$$(\lambda - 2)(\lambda^2 + 3\lambda + 1)$$

$$\frac{-3 \pm \sqrt{9 - 4}}{2}$$

$$= \frac{-3}{2} \pm \frac{\sqrt{5}}{2}$$

$$\left(\frac{-3 + \sqrt{5}}{2} \right)$$

$$\left(\frac{-3 - \sqrt{5}}{2} \right)$$

$$(\lambda - 2)(\lambda^2 + 3\lambda + 1)$$

$$\lambda^3 + 3\lambda^2 + \lambda - 2\lambda^2 - 6\lambda - 2$$

$$\lambda^3 + \lambda^2 - 5\lambda - 2$$